Name __________________________                                                        Lab Night ________________

BINARY STAR REPORT 

DATA TABLE (see steps 1-2)

	Star Name ____________________________                       DEC = _______________________________

	T1
	T2
	T3
	T4
	T5
	T6
	T7
	T8
	T9
	T10

	
	
	
	
	
	
	
	
	
	

	T-average = ________________________

	Star Name ____________________________                       DEC = _______________________________

	T1
	T2
	T3
	T4
	T5
	T6
	T7
	T8
	T9
	T10

	
	
	
	
	
	
	
	
	
	

	T-average = ________________________


RESULTS TABLE (see steps 3-6)

Star              East-West Separation    Actual Sep. (sec)     Actual Sep. (radians)     Projected Sep. (LY)

Delta Cyg

Xi Cep

ANALYSIS TABLE (see steps 7-10)

Star                a = Projected separation (AU)         p= Period in years               Combined Mass   

Delta Cyg    

XI  Cep 

Put drawings on next page.

Star Name ______________________________


__________________________________________________________________________________________

Star Name ______________________________


Addition to Binary Star Lab

The total mass you calculated underestimates the mass of the stars. A correction has to be made for the way the orbit is tilted as viewed from Earth. Since the lab was originally written more information has become available.

This information is now available for XI Cep. The corrected total mass (M1+M2) = 2.79 on a scale where our Sun = 1. The mass ratio is also now known to be M2/M1= 2.8.  Find the separate masses.

M1=  __________     M2 = ______________

For Delta Cyg the corrected mass total is 4.8 and the mass ratio is 2. Find the separate masses.

M1 = ______________  M2 = _______________

Point Values
Data Table: averages 3 pts each, other blanks 2 pts each, drift times 1 pt each

Results Table: 3 pts each

Drawings: 6 pts each

Addition:  3pts each blank
